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Q1. (8 marks) Complete the following C++ program that reads two integer values from the user x
and y. Then, round the value of & to the nearest multiple of y. Listings 1 and 2 show two
sample runs of the intended program.

[Note: assume that x >y and z,y # 0]

Enter two positive integers: 25 6 Enter two positive integers: 53 7
Result: 25 is rounded to 30 Result: 53 is rounded to 56
Listing 1: Sample Output 1 Listing 2: Sample Output 2

Answer for Q1:

int main() {
int x, y, result;
cout << "Enter two positive integers: ";
cin >> x >> y;

cout << "Result: " << x << " is rounded to " << result << endl;
return O;




Q2. (4 marks) Complete the following C++ program that reads an integer and returns the term in
the following sequence corresponding to that number. The sequence is defined as follows:
1 <0
flx)=X=x r=1lorxz=2
flx=1)+ f(x —2) x f(z —3) x> 2

Based on that definition, the series goes as follows: 1,1,2,3,5,11,26,81,---, so if the user enters
a 0 or negative integer the result would be 1, if the user enters 1 or 2 the result would be 1 or
2. If the user enters 6, then the result would be 26 = f(5) + f(4) * f(3) and so on. Listings 3
and 4 show two sample runs of the intended program.

Enter number: 6 Enter number: 5
1123411 26 1123511
Result: 26 Result: 11
Listing 3: Sample Output 1 Listing 4: Sample Output 2

Your program should not use any recursive functions or arrays. Your program must use a loop
to produce the result as well as printing the terms until the desired number.

Answer for Q2:

int main() {
int x, result;
cout << "Enter number: ";
cin >> x;

cout << "Result: " << result << endl;
return O;




Q3. (4 marks) Complete the following C++ program that reads two positive integers and prints out
the prime numbers between them. A prime number is a number that is only divisable by
1 and itself. For example, if the user enters 0 and 10, then the program prints the numbers:
2 3 5 7, if the user enters 20 10, the the program prints the numbers: 11 13 17 19. If
one of the numbers is negative, the program should output Wrong Input!. Listings 5 and 6

show two sample runs of the intended program.

Enter two numbers: 0 10
2357

Enter two numbers: 20 10
11 13 17 19

Listing 5: Sample Output 1
Answer for Q2:

Listing 6: Sample Output 2

int main() {
int x, y;
cout << "Enter two numbers:
cin >> x >> y;

return O;

b




Q4.

(4 marks) Complete the following C++ program that reads a 6-digit integer from the user and
determines whether the number is palindrome. A palindrome number is a number that can be
read from left to right the same as from right to left. For example, if the user enters 123321
then the number is palindrome. If the user enters 123456, then the number is not palindrome.

istings 7 and 8 show two sample runs of the intended program

Enter a 6-digit number: 123456 Enter a 6-digit number: 123321

The number 123456 is not palindrome! The number 123321 is palindrome!
Listing 7: Sample Output 1 Listing 8: Sample Output 2

Your program should not use any recursive functions or arrays.

Answer for Q4:

int main() {
int x;
cout << "Enter a 6-digit number: ";
cin >> x;
return O;
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